Puzzle 9942 - Friday, 14 November, 2014 - Difficulty 10

I R 1 7 1 s |
58677 974|123
A I 6 | 3
714|361 2]8|5]|09:
| ;Ziiiiliiiiii: | 14 | | %767::1
2191189513 [4(7]6
IEER A [ IR | I ‘ 1
156|543 |9]17|8]2]
%*2*:::’:::::; 15 ::::::{: : *7*,::::,;11’::,:’*1*2*:::
83|95 |27|6|1][4
2’61"”’5:5;:’ ’1’4"’ e : ‘ ;87: — ::f;‘ 7777777777777 i
4 (27|18 [6|9]3]|5!
13 A
954|227 /8376
S ] -7 R I | i 3 ‘7 ’’’’’’’’’’’ i :,;}‘,,,7:‘
3|7]2]|9]6]1]5]|4]8
1 i EE
61183452977

Copyright (c) www.dailykillersudoku.com




